EE207  Winter 09  (082)
Extra problem #2
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For the three periodical signals  x1(t), x2(t) and x3(t)  shown above, 
find the followings :

(a)  The Fourier Series coefficients  an, bn  using the integration formula?  
(b)  The Complex Fourier Series coefficients  Xn  using the integration formula? 
 (c)  Knowing the Fourier coefficients (an, bn and Xn ) for x1(t), x2(t)
        Can you find the Fourier coefficients (an, bn and Xn ) for x3(t)
        without using the integration formula , Explain ?
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